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Question Number : 1 Question Id : 249363317 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following acts as an intermediary between the kernel and a user?

Options:
1 % Process

> « Shell
= % Processor

4 % Hardware

Question Number : 1 Question Id : 249363317 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % GIEE
> v A
3 % STHET
4 x B

Question Number : 2 Question Id : 249363318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following parts of a computer can control every activity performed by it?
Options:

, » Random access memory

- » Inputdevices
-  Central processing unit

, = External storage devices

Question Number : 2 Question Id : 249363318 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 3 Question Id : 249363319 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Cache memory is implemented using which of the following?

Options:
1 « Static RAM

- %» EEPROM
5 % EPROM

4 % ROM

Question Number : 3 Question Id : 249363319 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| v B&F & (Static RAM)

, % $$9UH (EEPROM)

. » SURIA (EPROM)
« A (ROM)

4.

Question Number : 4 Question Id : 249363320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Windows Vista, Linux and Unix are different types of:

Options:



| % Computer
5 of Operating system
= % Processor

4 = Storage device

Question Number : 4 Question Id : 249363320 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 5 Question Id : 249363321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following enables a computer to work with a printer?

Options:
1 « Driver software

> % MS Word
= % Mouse

4 % Protocols

Question Number : 5 Question Id : 249363321 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 249363322 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Favorites are accessible from which of the following menus in Microsoft Windows?

Options:
1 & Start

- # Title
5 % Stop

4 % File

Question Number : 6 Question Id : 249363322 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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o R SEE
3 % MY
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Question Number : 7 Question Id : 249363323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MICR stands for:

Options:

, % Magnetic Ink Case Reader

-~ % Magnetic Ink Card Reader



5 » Magnetic Ink Code Reader

4  Magnetic Ink Character Recognition

Question Number : 7 Question Id : 249363323 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| o FE 5% FE A
. MR 5% =S A=
|, AR 5% Bw AW

. HIATEE FF Fiae ey

Question Number : 8 Question Id : 249363324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What are UNIX system calls used for?

Options:
, w Informing the system administrator about an abnormal condition

> of Obtaining some service from the kernel
- » Executing a UNIX command from the shell

4 » Executing a UNIX command from the kernel

Question Number : 8 Question Id : 249363324 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 9 Question Id : 249363325 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following technology was used in fourth generation computers?

Options:
1 % Transistor

5 % SSI
s % MSI

4 + LSI & VLSI

Question Number : 9 Question Id : 249363325 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

| 4% ; P
. % SSI

5 % MSI

4 » LSI 3T VLSI

Question Number : 10 Question Id : 249363326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is the biggest unit of memory?

Options:
, « Gigabytes

5 % Bytes

5 = Megabytes



4 = Kilobytes

Question Number : 10 Question Id : 249363326 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 11 Question Id : 249363327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following is NOT an integral component of the CPU?

Options:
1 « RAM

> % Registers

- » Arithmetic logic unit

4 % Control unit

Question Number : 11 Question Id : 249363327 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 12 Question Id : 249363328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What among the following can cause a fixed disk error?

Options:
1 % No-CD installed

> % Bad RAM

5 % Slow processor

4  Incorrect CMOS settings

Question Number : 12 Question Id : 249363328 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| w A-TEr $EIes

, « 3% 1F (Bad RAM)
o » T SHET (AT FaE)

, v TTod WA (CMOS) afdew

Question Number : 13 Question Id : 249363329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
MIS is designed to provide information needed for effective decision making by which of the following?

Options:
Managers

B 4
-~ % Foreman

= % Workers

4 % Consumers

Question Number : 13 Question Id : 249363329 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 14 Question Id : 249363330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following provides reliable communication?

Options:
1 « TCP

o B IP
3 % UDP

4 % HUp

Question Number : 14 Question Id : 249363330 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » & (TCP)

, % TN (IP)

Z&dr (UDP)

o ®

4 % TEEIRI (Hitp)

Question Number : 15 Question Id : 249363331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the “chown” command in UNIX change?

Options:



, w» Home directory of user

-  Access permission of file
5 # Priority of processor

4 % Group

Question Number : 15 Question Id : 249363331 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 249363332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The resolution of a printer is measured in:

Options:
; % Megabits

> % Hz

5  Dots Per Inch (DPI)

4 % Inches (diagonal)

Question Number : 16 Question Id : 249363332 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 17 Question Id : 249363333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What was the name of the very first electronic digital computer?

Options:
, « Atanasoff —Berry Computer

5 #® Von Neumann Computer

2 % ABACUS

4 % UNIVACI

Question Number : 17 Question Id : 249363333 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 18 Question Id : 249363334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ellipses (...) indicate which one of the following?

Options:
1 ®% Menu

> % Windows



5  Dialog box

4 % Enter box

Question Number : 18 Question Id : 249363334 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 19 Question Id : 249363335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is as permanent as hardware and stored in ROM?

Options:
1 % Anfivirus

-~ % Freeware
- % Operating System

4 « Firmware

Question Number : 19 Question Id : 249363335 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 249363336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which among the following is a database object that 15 mainly used to enter and display records and make changes to
existing records onscreen?

Options:

= Query
> o Form

5 % Report

4 % Table

Question Number : 20 Question Id : 249363336 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 21 Question Id : 249363337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In which of the following data transmission mode is communication unidirectional?

Options:
| Simplex

- » Half-duplex
g Full-duplex

=

, » Both half-duplex and full-duplex



Question Number : 21 Question Id : 249363337 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 22 Question Id : 249363338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Personal computers can be connected together to form a
Options:

1 % server

-, % Supercomputer

5 « network

4 % enterprise

Question Number : 22 Question Id : 249363338 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 249363339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What does the file system “NTFS™ stands for?

Options:

; » New Type Files System

- % Never Terminated Files System
-  New Technology Files System

, % Non Terminated Files System

Question Number : 23 Question Id : 249363339 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 24 Question Id : 249363340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which among the following displays a hierarchical structure of files. folders, and drives on the computer?

Options:
1 « Folders list

> % Search bar
= % Status bar

, » Dialog box

Question Number : 24 Question Id : 249363340 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 25 Question Id : 249363341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Accessing another person’s computer to steal or destroy crucial data or information is called as:

Options:
, « Hacking

> % Cracking
= % Backdoor attack

4 % Password-guessing attack

Question Number : 25 Question Id : 249363341 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 26 Question Id : 249363342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a technique to reduce the size of a file or folder?

Options:



1. Compression

- % Sorting

5 % Decompression

4 % Sequencing

Question Number : 26 Question Id : 249363342 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 27 Question Id : 249363343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Information transmitted over a communication system also known as?

Options:
1 % Medium

- % Protocol

5  Message

4 # Value

Question Number : 27 Question Id : 249363343 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1_%3%@




Question Number : 28 Question Id : 249363344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT related to the judgment of network performance?

Options:
, % Security

> % Reliability
- » Availability

i P Accountability

Question Number : 28 Question Id : 249363344 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

1 ® 2

- R ﬁim
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Question Number : 29 Question Id : 249363345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the odd one out of the following options.

Options:
, w Stateful inspection

- « AltaVista



5 » Proxy Firewall

, w Packet-filtering Firewall

Question Number : 29 Question Id : 249363345 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 30 Question Id : 249363346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The collection of related records is called a:
Options:

1 % Field

- w Tuple

3 « File

o,

4 % Folder

Question Number : 30 Question Id : 249363346 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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4 % BIe=T

Question Number : 31 Question Id : 249363347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What measures the capacity of a communication channel?

Options:
1 # Modem

> # Width
% « Bandwidth

4 # Network

Question Number : 31 Question Id : 249363347 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 32 Question Id : 249363348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the physical layout of wires and devices that connects the network’s nodes, called?

Options:
,  Topology

» # Biology

- % Jlechnology

4 % Architecture



Question Number : 32 Question Id : 249363348 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

Question Number : 33 Question Id : 249363349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which among these is the process of restarting a computer without turning off the power?

Options:
1 % Utilities

> « Warm Boot
z % Device drivers

4 % NetWare

Question Number : 33 Question Id : 249363349 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 249363350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



What are the data and instructions stored on special ROM (read-only memory) chips on the board called?

Options:
| + BIOS

> #% Flash
5 = Symbols

4 % Microcode

Question Number : 34 Question Id : 249363350 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| » T (BIOS)
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Question Number : 35 Question Id : 249363351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following uniquely identifies each computer on the network?

Options:
1 « IP address

> # Domain name
5 % ICMP

4 % LAN

Question Number : 35 Question Id : 249363351 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




| » B T2 (IP address)

, % SHA #A (Domain name)

. x IEETHD (ICMP)
o (LAN)

4 %

Question Number : 36 Question Id : 249363352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Which of the following protocol is used to open WWW?

Options:

1 ® ﬁp
o o Bitp
= # Icp/Ip

4 % Tep

Question Number : 36 Question Id : 249363352 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 37 Question Id : 249363353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following tags is used to define the basic font size?
Options:

1 % Basefont



> o Font
3 % Size

4 8 Font tvpe

Question Number : 37 Question Id : 249363353 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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3 ® ES

Question Number : 38 Question Id : 249363354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a unit of measurement of computer systems?

Options:
| % Byte

> % Megabyte

- u Kilobyte

4  lerabyte

Note: For this question, discrepancy isfound in question/answer . Full Marksis being awarded to all candidates.

Question Number : 38 Question Id : 249363354 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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z B iEI’“IﬂIgE
4. ETEe

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 39 Question Id : 249363355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A contains buttons and menus that provide quick access to commonly used commands.

Options:
1 #% Menu bar
> « Toolbar

=z ® Windows

4 % Action bar

Question Number : 39 Question Id : 249363355 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 40 Question Id : 249363356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following Network and Transport-layer protocols are commonly used on the Internet?

Options:
1 % TCPand HTTP
> % RIP and NLSP

= « TCP and IP



4 #® TCP and UDP

Question Number : 40 Question Id : 249363356 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
=g 7 & #iF ¥ fcas 3K THuE-9TT Qdsa 3@ H HHGIT 9T g3 & e 22
Options:

, = TCP 3R HTTP

- % RIP 3T NLSP
v TCP 3R IP

. » TCP 3R UDP

Question Number : 41 Question Id : 249363357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which of the following is NOT an inter-networking device?
Options:

, w» DBridge

5 o Amplifier
5 % Gateway

4 % Hub

Question Number : 41 Question Id : 249363357 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cﬁﬁﬁﬁﬂmm:l Wrong;; FITHT FeT-ATafRT Bargw 7@ 82
s

5 v UFAHERT

3 % e

4 % €9



Question Number : 42 Question Id : 249363358 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which two keys need to be pressed together to find the next bookmark?

Options:

1 # Cul+W
5 8 Chl+1)
z o Cil+G
4 ® Alt+F

Question Number : 42 Question Id : 249363358 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

3TN GHATH GTod HA & [T Hief AT & () HIAAT H T AT GaTAT AT 872

Options:

L% Ctrl + W

, % Ctrl + D
s Cirl + G

4% At + F

Question Number : 43 Question Id : 249363359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A user can get files from another computer on the internet by using which one of these?

Options:
. « FTP

> % HTTP
T B tTEP

4 % TCP

Question Number : 43 Question Id : 249363359 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



| v THEE (FTP)
T (HTTP)
Zérdr (UTP)

&rdrdr (TCP)

o
®

Question Number : 44 Question Id : 249363360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
After copyving content. how many times can it be pasted?

Options:
1 ® 1

4 +« Unlimited

Question Number : 44 Question Id : 249363360 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
fordr Tawgarg (FE2) 1 FHI A F 1€ 38 Fraer 9 9w Far 5 g g2

Options:

1 % 1
oo® 8
ST ] 32

4 v HAAT

Question Number : 45 Question Id : 249363361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which key is used to activate selections on the menu bar while using a keyboard?

Options:
1 % Tab



2 o Alt
3 » Cirl

4 * Shift

Question Number : 45 Question Id : 249363361 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

FEE FT T F FC AN F A F WO 7= F B fFw & (F=) 71 oawer G e

Options:

1 ® Tab
z ® Ctrl

4 % Shift

Question Number : 46 Question Id : 249363362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where can you change the vertical alignment of a Word document?

Options:
, w» Formatting toolbar

- w Paragraph dialog box

5  Page Setup dialog box

4 % Standard toolbar

Question Number : 46 Question Id : 249363362 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
TT TETAHT F FEATIR TIGUT (IESANE) F FET § 967 T 87
Options:

1 ® T + &

o % U ST STod



- v IS UTHT ST Sy

, » TS5 TR

Question Number : 47 Question Id : 249363363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following shortcut keys is used to move the slideshow forward from the current slide?

Options:
1 ® F5
> % Ctrl+F5
z % Alt+F8

4 « Shift + F5

Question Number : 47 Question Id : 249363363 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TS o F IAA FAEE W I s W @ I v Teefefae # w e aewe st =
Foare fam = 3
Options:

- % Ctrl + F5
5 % Alt + F8

. « Shift + F5

Question Number : 48 Question Id : 249363364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What needs to be pressed to select an entire column in MS-EXCEL?

Options:
1. ® CTRL+C
> % CTRL + Arrow key

= % CTRL+S



4 CTRL + Space

Question Number : 48 Question Id : 249363364 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
THTH-TFNT F [ FIeH F G99 FA & [T FAT Za=T I57 87

Options:

, % CTRL + C

CTRL + &I it

A
- % CTRL + S

. v CTRL + =59

Question Number : 49 Question Id : 249363365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which one of the following devices is shared in a network?
Options:

, » Keyboard

> # Speaker

3 « Printer

4 = Joystick

Question Number : 49 Question Id : 249363365 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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e e
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3 v B
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Question Number : 50 Question Id : 249363366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Bits from physical layers are converted into frames by which layer?
Options:

, « Datalink layer

> w Network layer

5 % lransport layer

, w Presentation layer

Question Number : 50 Question Id : 249363366 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Ffee IR F ey 9 o ganr v 7 afEfda g 22

Options:

1J%Erﬁ$€m1:
o W ?ﬁﬁ?@'&'{
L« TEUIE AT

4 & ﬁﬁ?&!ﬂ'?ﬂﬂ

Question Number : 51 Question Id : 249363367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Where can you find the horizontal split bar on the MS Word screen?
Options:

1 % On the left of horizontal scroll bar

- % On the right of horizontal scroll bar

=  Onthe top of vertical scroll bar

4 % On the bottom of vertical scroll bar

Question Number : 51 Question Id : 249363367 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

|« SIS Bhler IR & 1% 3R
, » Sifa THA aX F &8 3R
. » FEAT T I & T W (FN)

, « FEAUT BFlA 9 & FeH W (A=)

Question Number : 52 Question Id : 249363368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
What needs to precede a numeric value for it to be treated as a label value?

Options:
. Apostrophe (*)

» % Exclamation (!)
- u Hash (#)

, » Tilde ()

Question Number : 52 Question Id : 249363368 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
T TEaTcHs AT & 9ge FT AT AT ¢ SEw & s® owd A Fr G gH s A

Options:

| v TIU-FRF e ()

, » AT FEa (1)
, « HaU-fEES (~)

READING COMFPREHEMNSION
Section 1d : 24936334



Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936334
Question Shuffling Allowed : Yes

Question Id : 249363369 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension



Read the passage given below and answer the questions that follow
by selecting the right option out of the given four.

Like all sports, hunting has its own rules but there is no referee
present to ensure that the rules are followed. The responsibility of
following the rules depends on the sportsman himself. The wildlife
staff keep a check but it is the sportsman who has to keep control on
himself so that our wildlife is not destroyed.

The most serious and heavy damage to our wildlife is caused by
poachers from villages adjoining the forests. Damage 13 also done
by gangs from big towns who kill the wildlife to sell skin and horns.
If we follow the rules strictly, we can continue to hunt without any
loss of our fauna.

In order to save our wildlife, a number of national parks and game
sanctuaries have been established. While national parks are
established through an Act of Parliament or State Legislature,
sanctuaries are established through an administrative order of the
government. National parks are permanent and their boundaries
cannot be changed whereas sanctuaries are established for a fixed
period of time. which may or may not be increased: and whose
boundaries can be changed. As of 2015, there are 103 national parks
and 514 sanctuaries in India. The most famous are the Kanha
National Park in Madhya Pradesh, the Corbett National Park in
Uttarakhand and Dudhwa National Park in Uttar Pradesh. In these
national parks, the wildlife gets an opportunity to exist and multiply
in a natural manner without any interference or danger from man. In
the game sanctuaries. similar protection is given to all forms of
wildlife. The most famous game sanctuary in India is the Gir Lion
Sanctuary in Gujarat. Here lives the Asiatic lion. which once roamed
freely all over North West India. Pakistan. Iraq and Arabia. This is
the only part of the earth where the Asiatic lion still exists in its
natural environment owing to the strict protection given to it.

All our national parks and sanctuaries are a source of great pleasure
and recreation to thousands of visitors each year because they give
an opportunity to people to see the rich fauna of our country in their
natural surroundings.

Sub questions

Question Number : 53 Question Id : 249363370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main purpose of establishing national parks
and game sanctuaries is to:

Options:



, % Pprovide recreation facilities to the people.

provide animals, space to exist and multiply in a
> « natural manner.

5 % protect animals from hunters.

4 % earnrevenue.

Question Number : 54 Question Id : 249363371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

National Parks are established by:

Options:

| « anact of Parliament or a state legislature.

> % an administrative order of the Government.
- % Non-Governmental Organisations (NGO).

4 #% animal lovers.

Question Number : 55 Question Id : 249363372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

In which state is the natural habitat of the Asiaftic
lion?

Options:

, » Madhya Pradesh

> % Uttar Pradesh
= % Assam

4  Gujarat

Question Number : 56 Question Id : 249363373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Who causes the greatest damage to wildlife?

Options:

, w Gangs that kill wildlife for their skin and horns.



o  Poachers from villages near the forests.
- » Biganimals who prey on small ones.

4 % Hunters.

Question Number : 57 Question Id : 249363374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main theme of the passage is:

Options:
, % Tules of hunting.

information about wildlife sanctuaries and national
o  parks.

= # Information about wild animals.

4 » description of animals found in India.

Question Id : 249363369 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 249363370 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 249363371 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 55 Question Id : 249363372 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 249363373 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T A H T HOF T %éﬂluq AT T 872
Options:

g S 394 == At @9 9= &+ v
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4 R wl

Question Number : 57 Question Id : 249363374 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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4 % ¥R H 9T A I FAART F HFawon|

COUANTITATIVE AFTITULE

Section Id : 24936335
Section Number : 3
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936335
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 249363375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
V is inversely proportional to the square root of m and m is inversely proportional to the square of n. Then:

Options:
1 % Vo n?

o« Von

Question Number : 58 Question Id : 249363375 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Vim & TP &1 SehAIar & AR mn & T3 HT SGSHARIET gl a9

Options:

i % Voo n?

2o Von

Question Number : 59 Question Id : 249363376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A can hit a target four times in 5 shots, B three times in 4 shots and C twice in 3 shots. The probability that C and A
may hit but B loza is:

Options:



I-*lm

i

wl | b

| -

47

Question Number : 59 Question Id : 249363376 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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1 e
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47

Question Number : 60 Question Id : 249363377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of question mark (?) in the following question?

3244 3 -7
4 = 2

Options:
1
1 ® 40
1
aor
1

o & 40



Question Number : 60 Question Id : 249363377 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

fAeafofa e # goa fEd (?) & Ta | Far Jem?

3 2 1
32 +42-32 =7

Options:
1
1 ® 40
1
2« 40
1
6_
o R 40
3
4 B 40

Question Number : 61 Question Id : 249363378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

5
: [ 2 38
On Simplification, ; 1 0 (0.05) is equal to:
_I. —_—
34—
1+ i
Options:
1.+ 0.1
> % 0.01
T B 10
4 % 100

Question Number : 61 Question Id : 249363378 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



1+
HLAHIOT T T, 22— =+ (0.05) FrarT g

2+ T
B——
l+a
Options:
- % 0.01
z ® 10‘
4 % 100

Question Number : 62 Question Id : 249363379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A mixture contains spirit and water in ratio 5 ; 3. The mixture contains & litres more spirit as compared to water, What
are the respective guantities of spirit and water?

Options:
, % 10L;4L

» 8 SR
5 & BBL7L

P 0

Question Number : 62 Question Id : 249363379 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



Question Number : 63 Question Id : 249363380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct: 1 Wrong: 0

1 1 1 1 11 .
H = + =4~ —-==L— then the value of x 15

1= = 10 x 12

- 2
Options:

—13

1 ® 15

=1

2 o 13

13
o ® 20

20
4 ® 13

Question Number : 63 Question Id : 249363380 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

1 1 1 1 11
IR+ +——-=1— A xFTAITE
‘1:1 EE 10 x 12
Options:
—13
1 ® 15
—15
> o 13
13
5 ® 20
20
4 8 13
GEMERAL MEMTAL ABILITY AND REEASONING
Section Id : 24936336
Section Number : 4
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 6
Number of Questionsto be attempted: 6

Section Marks: 6



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936336
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 249363381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Select the option that is related to the third term in the same way as the second term is related to the first term.
Archaeology : History :: Herpetology : ?

Options:

,  Reptiles

> % Birds
= ® Viruses

4 % Fishes

Question Number : 64 Question Id : 249363381 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 65 Question Id : 249363382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third term in the same way as the second term is related to the first term.

17 :52 1207

Options:



Question Number : 65 Question Id : 249363382 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

39 BFeT & 90 # F AW 9E ¥ 3 9N ¥ wEE §, 59 99 a5 9% 9 9% ¥ wEnd g
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Options:

Question Number : 66 Question Id : 249363383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that correctly explains the relationship between the two statements below.

Assertion (A): When lightning strikes, the sound is heard a little after the flash is seen.
Reason (R) : The velocity of light is greater than that of the sound.

Options:
, « Both A andR are true and R is the correct explanation of A.

- % Both A and R are true but R is not the correct explanation of A.

%z % A istrue but R is false

4 % A is false but R is true.

Question Number : 66 Question Id : 249363383 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 67 Question Id : 249363384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In & certain code, *A — B’ means “A is the daughter of B'.’A — B means A is the husband of B7; *A * B means “A is
the brother of B".
Which of the tollowing correctly explains the statement P+ Q - R'?
Options:
1 « R is the mother of P.

> # R is the sister-in-law of P.
3 % R is the aunt of P.

4 # R is the mother-in-law of P.

Question Number : 67 Question Id : 249363384 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
tr ARTa FE A, A+ B H AT EFABRIHE, A-B & 3§ F A BF I E;
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Options:

, v R P& amgl

, « R, P & 7= gl



. « R, P &r I §
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Question Number : 68 Question Id : 249363385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the minimum number of straight lines required to make the given figure?

Options:
1 o 13

A 12

EE 17

Question Number : 68 Question Id : 249363385 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 69 Question Id : 249363386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the maximum number of triangles in the given figure?

Options:
1 ® $2

o o 18
2z R Lo

EE 26

Question Number : 69 Question Id : 249363386 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Section Number : 5

Section type: Online
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Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section 1d: 24936337
Question Shuffling Allowed : Yes

Question Number : 70 Question Id : 249363387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

What is the expansion of HTML?
Options:

, w Higher Text Markup Language

- % Higher Text Machine Language
- » Hyper Text Machine Language

4 Hyper Text Markup Language

Question Number : 70 Question Id : 249363387 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 71 Question Id : 249363388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



Which is the oldest mutual fund in India?
Options:
1 % SBI Contra Fund

®

Baroda Pioneer Mutual Fund

[
®

LIC Mutual Fund

a
®

4 « UTI Master Share Unit Scheme

Question Number : 71 Question Id : 249363388 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 72 Question Id : 249363389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
NABARD is associated with the development of which sector?

Options:
1 Agricultural sector and rural area

» » Heavy industries

5 » Banking sector

4 % Real estate

Question Number : 72 Question Id : 249363389 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 249363390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is the current chairperson of the National Green Tribunal?

Options:
, % Justice Lokeshwar Singh Panta

-~ » Justice Markandey Katju

= % Justice J.S. Verma

4 « Justice Swatanter Kumar

Question Number : 73 Question Id : 249363390 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 74 Question Id : 249363391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who is called the Flying Sikh of India?

Options:



, » Mohinder Singh
> # Ajit Pal Singh
- % Joginder Singh

» Milkha Singh

Question Number : 74 Question Id : 249363391 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 249363392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The phrase *16-yard hit’ is associated with which of the following sports?

Options:
1 = Polo

>  Hockey

- % Baseball

4 ® Golf

Question Number : 75 Question Id : 249363392 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Group Number : 2

Group Id : 24936318
Group Maximum Duration : 5

Group Minimum Duration : 5

Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 1
Mandatory Break time: Yes
Group Marks: 0

English Typirg Test

Section Id : 24936338

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 24936338
Question Shuffling Allowed : No

Question Number : 76 Question Id : 249363393 Question Type: TYPING TEST Display Question Number : Yes
Wormens History Morth 15 an annual declared month that is traditionally held in March, bat the study of
wWOITEnNs history 15 valuable all twelve months of the vear, Wornern have overcorme daunting odds to succead
and excel in all areas of haman endeavor, including science, manufacturing, athletics, business, and
exploration.
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Allow Back Space: Yes
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Group Number : 3

Group Id : 24936319
Group Maximum Duration : 15
Group Minimum Duration : 15
Revisit allowed for view? : No
Revisit allowed for edit?: No
Break time: 0

Group Marks: 0

English Typing Test

Section Id : 24936339

Section Number : 1

Section type: Typing Test

Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 0

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 24936339
Question Shuffling Allowed : No

Question Number : 77 Question Id : 249363394 Question Type: TYPING TEST Display Question Number : Yes

Physical education is a most essential part of the educational systems incorporated all across the globe. In
several countries, it is also referred to as Gym or physical training class. During the small sessiorn, various
pevchornotor activities are taught by the instructors to the students to help thern become mentally and
physically strong. The activities involved in the physical education might be different in various institutions
based on the time and location. Of course, mowves can vary, however the main sole of the activities is to help
students gain skills and knowledge on how to enjoy a healthy and disease-free lifestyle, not only in young age,
but also up to their old age. Benefits are countless when it comes to involving the activities and mowves of the
physical education classes in the daily routine of the students. With proper implermentation of such sessions, it
has become easier for the students to prove thermselves as a responsible adult who is aware of the significance
of maintaining a healthy lifestyle. When students involve in such activities with their full dedication, it has
become easier for them to collect the unmatched knowledge pertaining to the overall health that is sufficient
enough to propel them make firm and educated decisions in terms of their own well-being, safety and health.
Studernts are taught about the importance of physical fitness during the physical education class. This helps
thern to lead a healthy lifestyle. With such classes, not only the students are benefitted, but this also benefits
the surrounded people amazingly. The proper involvernent in the regular fitness activity comes as a viable
alternate to help students irmnprove their cardiovascular health, dewvelop their rrmascular strength as well as
maintain their entire body fitness. The body of such students starts responding amazingly when it comes to
improwving the absorption of nutrients it takes. This also increases physiological processes, while at the same
time, improves digestive processes. The positive effect on the students personality and self-esteern cannot be
underestimated with the proper involvernent in physical education classes. Apart from this, these activities
also provide students with a wonder ful opportunity to improve their interpersonal skills and communication
skills with the team-building process. This actually works out to boost their confidence and assists them to
adapt the habits of cooperating with other students who have different personalities and come from different
backgrounds. Physical education is also imperative to the proper developrment of motor skills as well as the
improverment of reflexes. Most of students also notice positive responses on the improverment of the hand-eye
coordination. In additicn to this, 1t 15 hard to 1gnore the enhancerment in their body mosernents, which 1s highly
important for the developrnent of a healthy body posture.
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